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1. Counting from the most oxidized carbon, eventually the oxygen from which carbon is lost when glucose units are combined to make cellulose?

a. from carbon 1
b. from carbon 2
c. from carbon 3
d. from carbon 4
e. not a.-d.
2. The names of which carbohydrates are used in pharmaceuticals to specify the stereochemistry of vicinal chiral centers?
a. triose 

b. tetrose

c. pentose

d. hexose

e. not a.-d.

3. The only ketose that you were asked to memorize is?

a. fructose

b. glyceraldehydes
c. ribose

d. threose

e. not a.-d.
4. The following carbohydrate for sure is? [image: image1.emf]H
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a. d


b. l


c. D
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e. not a.-d.
5. Counting from the most oxidized carbon, the oxygen from which carbon will become the oxygen in the ring of a furanose of ribose?
a. from carbon 1
b. from carbon 2
c. from carbon 3
d. from carbon 4
e. not a.-d.

6. Which of the following Haworth projections is alpha and L?
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e. not a.-d.
7. The structures in question 6 are derivatives of which open form carbohydrate?

a. erythrose

b. fructose

c. glucose

d. threose

e. not a.-d.

8. Strutures a. and d. from question 6 are?

a. enantiomers




b. epimers


c. diastereomers but not epimers

d. constitutional isomers


e. not a.-d.

9. Which compound is lactose?  



e. not a.-d.
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10. What is the most precise name of the most significant intermediate in making cellobiose from glucose?
a. carbanion

b. carbocation

c. imine


d. oxonium

e. radical
11. Which reagent turns from blue to red in the presence of glucose?
a. Ag+


b. Br2


c. Cu(II)


d. all a.-c.

e. not a.-d.
12. Which carbohydrate should be used to make D-galactose by the Kiliani-Fischer synthesis?  More than one series of reactions may be necessary.

a. D-erythrose

b. L-erythrose

c. D-threose

d. L-threose

e. not a.-d.

13. Which carbohydrate should be used to make erythrose by the Ruff degradation?

a. fructose

b. galactose

c. glucose

d. ribose

e. not a.-d.
14. Which compound is D-isoleucine?
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e. not a.-d.

15. Which compound is Phe-Val?
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e. not a.-d.

16. Which aldehyde would be used to make racemic leucine by the Strecker synthesis?
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e. not a.-d.
17. The byproduct of the reaction of DCC (dicyclohexylcarbodiimide) with -aminocarboxyl acids is?
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e. not a.-d.

18. After one cycle of the Edman Degradation of the following tripeptide, which dipeptide would be left?
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e. not a.-d.

The Exam 4 retake homework is due Tuesday, August 6, before 4:00 p.m!
